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OR (3121an)

What is managerial control ? What are its different

methods ?

gegs e aar @ ? g faftr=
q Pc ﬁ El'ﬁ | Mangerial Eco.

9.  Which factors should be considered while

designing M.L.S. ?
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OR(37214)
Explain the role of a manager in an organisation .
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Time : 3Hrs. Sem - I11 / MOP
MIS

Full Marks : 70
Pass Marks : 28
Answer all 20 questions from Group A, each question
carries 1 marks.

Ju-A ¥ a+fl 20 ¥ B SR <, IAP U BT 4 1 35 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
qu-B 4wl uig gl & SR <, UAS U BT 4 435 ¢ |
Answer all Five questions from Group C, each question

carries 6 marks.
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All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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5. What do youb understand by 'POSDCORB' ?
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Define flow-chart with example.
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6. Define C.P.M. and Pert.?
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Explain the meaning of Information system.
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Which of these is a downward
communication ?

(a) Reporting

(b) Order

(c) Answering

(d) None
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Which is called brain of computer ?
(a) Key Board

(b) Monitor

(c) Mouse

(d) C.P.U.

P.T.O



O'Ld

| 3
Digjljh (@ bislkly libd 3ko ph Lislkly

‘Suruueld o1391eng pue 3uruued Uy

(lprRR)IO

| DIQJIp Lhikdfh P BbYRle bh Ieklllh

‘wPLo3[y pue Suruweidold duydq

| diajlp
KIR @ 132128 Ikikdjh 1@ Ikkh ph Sale

-odwrexs yim uonewIoju] pue eje auye(

(lpE)HO

6 'STIN JO sjuatuafa ay) ale Jeyp\

y0€9791 €1 PEOELN

ar0qe a3 [TV (P)
So[1d (0)
aremyos (q)
arempiey (e)

- sapnpul ‘S TN

Ry (2)

ENTRTN(Y

Bolk (k)

2tk (le)

¢ @ kk 2h—28lie Llb R p3

'ndD ()

preoq A3 (9)

as10 (q)

J0J1uoIN (®)

{, 991A9p IdIno ue SI 3SAY) JO YIIYM

g (2)

Rolk (1)

22Lylk (b)

b 1 (k)

i

P bk 1b 32k Pa) B b3

PEOELN 14

(18)

(»)

(»)

(A1)

P0€9791



1626304

(xx)

12 NT3034

Uh IR UH.3M1S.09. ©ifid 8 o1 &
91 UGRRAT b1 FT HRAT d1fay ?
(31) wist

(@) vras

GIEELIS!

(%) SWRIad ®Is )

GROUPB
Answer all Five Questions.
o . . 4x5=20
Hl ufg gl @ SR Q|
2. Why computer is important in M.L.S. ?
4
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Explain different types of system.
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M.L.S. provides a system of -
(a) People

(b) Computers

(c) Procedures

(d) All the above
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Telecommunication is vital characteristic of -
(a) M.M.S.

(b) SM.S

(c) SM.LS.

(d) All the above
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Computer chips are made of -
(a) Fiber

(b) Magnet

(c) Metal

(d) Silicon
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Which is a limitation of MLL.S. ?

(a) It takes only quantitative factors into
account

(b) It uses information as weapon

(c) Design of MLL.S. is considered as Skeleton

(d) All the above
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Decision making is -

(a) Complicated process
(b) Occasional process
(c) Continuous process
(d) All of above
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Information cycle is -
(a) One sided

(b) Two way

(c) Continuous

(d) None
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10. Which are the basic steps of M.L.S. ? Explain its

11.

main levels.
6
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OR(372rd)
What is D.S.S. ? What are its characteristics ?
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Why MLLS. fails ?
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Explain in brief Office Automation System .
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10. Which are the basic steps of M.L.S. ? Explain its

11.

main levels.
6
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OR (3721dT)
What is D.S.S. ? What are its characteristics ?
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Why MLLS. fails ?
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Explain in brief Office Automation System .
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